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#!/bin/bash

clear

echo
read
echo
read
echo
read

echo

read

n "ol2g Yt ¢
username

nAUSENsE Yestie ¢
usernum

n "HEYSE QSR
userphone

-n "AL8% D YAt

id

if grep -w $id /etc/passwd > /dev/null

grep -w $id /home/guest/.user_list.txt > /dev/null

then

echo "AMgAIF EARfFLICE
echo -n "OjA] YHstAla "
read id

echo -n "H|YHSE QAN Q




read passwd
echo -n "OTPE A£49rS E-mailg YB5HAQ "
read email
else
echo -n "H|PHS S JAstAlQ "
read passwd
echo -n "OTPS XM44r2 E-mail2 AL "
read email
fi
/S3_graduation/OTP >> /home/guest/.user_list.txt
echo "$id : $username : $usernum : $userphone" >> /S3_graduation/.user_info.txt
echo " $id $passwd $email" >> /home/guest/.user_list.txt
‘cat /home/guest/.user_list.txt | grep -w $id | cut -f1 -d' ' | mail -s "OTP Number"
$email’
echo "AMEAIS Q7
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#include <stdio.h>
#include <stdlib.h>
#incllude <time.h>

int main(void)
{
int i, j random][6];
srand( (unsigned) time(NULL));

for(i=0;1<=05; I++) {
random][i] = (rand() % 10);
for (j=0; j < i; j++) {
if(random|[i] == random][j]) {
[--;
break;

t
for(i=0;i1<=5;i++)

printf(“%d”, randomlil);

return 0;
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I-3-3. BAE #&A9=2 E¥se dudF

echo >> /S3_graduation/temp/$user.temp

while [ $listent -le "11" ]

do
if [ $listent -le "8" ]
then

list="cat /S3_graduation/temp/$user.temp | cut -f$listent -d'/"
sh /S3_graduation/Question/$list
echo -n ":$listent" >> /S3_graduation/temp/$user.temp 2> /dev/nul
# A7 19 ~ 10971R] ... AAshe A
listent="expr $listent + 1°

else

list="cat /S3_graduation/temp/$user.temp | cut -f$listent -d'/"
sh /S3_graduation/RQS/$list

echo -n ":$listent” >> /S3_graduation/temp/$user.temp 2> /dev/nul
# A7 19 ~ 10971R] ... AAshe A.

listent="expr $listent + 1°
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fi

done
clear
E@ChO " e oo e "
echo " T} 2AE glayct
echo " 2E Brlg EHSUcH"
echo " 41 syt FshgchIl
eChO " # - oo w "

rm -rf /S3_graduation/temp

HHBHHH BB R SRR

save()
{
if [ -f /S3_graduation/temp/$user.temp |

then
echo -n "o]Ao] Ed A7} JEU. olojA sHAIZASYZE 2 [y/n] "

read cntcnt

case $cntent in

ylY)
loadent="${savecnt##=*:}"
listent="expr $loadcnt + 1°
# echo " " >> /S3_graduation/temp/$user.temp

while [ $listent -le "11" ]
do
list="cat  /S3_graduation/temp/$user.temp | cut
-f$listent -d'/" 2> /dev/nul
sh /S3_graduation/Question/$list 2> /dev/nul

echo -n "/S$list" >>
/S3_graduation/temp/$user.save.temp 2> /dev/nul

echo -n ":$listent” >>
/S3_graduation/temp/$user.temp 2> /dev/nul

# BAZE 19~ 1097HR]... ARSHE 2.

listent="expr $listent + 1°

done
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clear

echo "t} BAL QiU
echo "2 E BRI TR
echo "1 s SUTH Estgychl

rm -rf /S3_graduation/temp

n|N)
news::
esac

else
new
fi
user="whoami' #AFg-AL9] ofo|f & JH7] st I &
savecnt="cat /S3_graduation/temp/$user.temp’
touch /S3_graduation/temp/$user.out #5525 3sF 7ISE

save
rm -f /S3_graduation/temp/$user.out #E5F57I+E AHA|
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root@localhost:/S3_program

DIy HE(E) B2V HOYT) ®(B) =3T(H)
#!/bin/bash

clear

acho —n “AF2 ™ |DE YHa 4G

read Id

I'f grep —w Hld /etc/passwd > /dev/null

grep —w
then

else

$id /homefguest/ user_|Ist_ txt > fdev/nul|

"

= (=

TAE At
- TCEA|
la

echo
echo
read

echo H
read
echo

read

LS E YHEHME ;7

Y=atMa

echo
read passwi
echo
read

YdHsrHe ;7

YoM

HIg
=

ot €12[F

root@localhost:/S3_program

OR(E) HME(E) =22V HOW(D WE =8U(H
#Include <stdlo,h>
#include <stdllb . h> 5 Al A~ 2|7l 2 3t
#include <time.h> ET,_'Z Ij\‘t{'“‘:ia‘:
-ZE A Aol bz Y 4
Int main(vold)
i
Int |, j, random(6];
srand( (unsigned) time(NULL)):
for (1=0: 1<=5; 14+ |
random(1] = (rand() % 10}
for (j=0: j<Ii j+H |
I f (random{i] = random(j 1) {
I—
_ break
!
}
}
for (1=0! I<=5. |4+ )
printf("sd”, random[I1]}:
|
return 0;

)|
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HE(E) HI(V) HOL(T) BB

read

T orep —w "Botp Hld Prasswd”

then

- "IDE YESML 7
Id

- "passwdE YHSAH R
passwd

-n "OTPE YA MEI
otp

S/maln.sh

else
echo
il

"AESRI PSUD, MEAES QL FSHMI."

) Z9HH)

fhome/guest/ user_|Ist, txt > fdev/nul|
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